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B FTHE B 42 42 84 14. 4 69.6 AE
#E X# —% 47 46 93 22.8 70.2 AE

3 PfIER BSIE 44 47 91 20. 4 710.6 AE
4 mK =EE 42 48 90 19.2 70.8 AE
5 BHE FE 43 40 83 12.0 1.0 AE
6 T —Iif 46 42 88 16. 8 11.2 A8
7 | B= 53 A 94 22.8 1.2 AE
8 KB ®=—H 44 42 86 14.4 711.6 AE
9 | B2 47 45 92 20. 4 1.6 AE
10 kE Z—H 40 39 19 1.2 711.8 AE
[RENE VN 43 47 90 18.0 12.0

12 Il BRE 4] 42 89 16. 8 12.2

13 & F— 43 39 82 9.6 12.4

14 J)\H i 44 44 88 15.6 12. 4

15 FH HH 47 47 94 21.6 12.4 RE
16 A I 42 90 92 19.2 12.8

17 /MR 8K 39 39 78 4.8 73.2 (A4
18 MHE B 40 44 84 10. 8 13.2

19 E# IR 44 44 88 14.4 13.6

20 k2K & 45 45 90 15.6 14.4 RE
21 KB =—HB 52 44 96 21.6 14. 4

22 @ = 43 93 96 21.6 14. 4

23 '®RHE X8 41 46 87 12.0 15.0

24 |&RH X& 44 49 93 18.0 15.0

25 A ®|IE 46 40 86 10.8 15.2 RE




26 i BC 48 49 97 21.6 15.4
21 &F X 47 43 90 14.4 15. 6
28 |7l E 45 51 96 20. 4 15.6
29 @R EBAE 53 52 105 28.8 16.2
30 AR =RIE 44 48 92 15.6 16.4 |FRE
31 TME M 53 45 98 21.6 16. 4
32 ElR R1T 45 48 93 15.6 11.4
33 | EX 48 45 93 15.6 11.4
34 |&F A 56 42 98 20. 4 11.6
35 FH M8 51 51 102 24.0 78.0 |RE
36 TFEX BF 50 53 103 24.0 19.0
31 XE =E5H 53 41 94 14. 4 19.6
38 |FEF Eif 39 59 98 18.0 80.0
39 #HAE E17 54 54 108 2].6 80.4
40 A —& 59 54 113 32.4 80.6 RE
41 5FK R 53 57 110 28.8 81.2
42 |[EH #— 55 56 111 28.8 82.2
43 BEH B 58 61 119 36.0 83.0
44 A —& 58 58 116 32.4 83.6
45 R 1E8 51 62 113 28.8 84.2 RE
46 Fik A 63 66 129 33.6 95.4
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